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Year 11 Ext] Assessment 2 2003

(12 marks)
(@) Factorize 2m’ —128
®  Simplify L, X
y—x (x - y)

2 —

(©) Solve ¥ =450
x

(d) Solve x-y=6 and x*+3* =18.

Explain the geometric significance of your answer.

(12 marks) Start this Question on a new page.

(2)

(b)

(c)

Ifx-y+.x+y=+/6 findx and y .

IFx =323 find x~ and hencex2+i2.

3+\/§ x X

@) If¢(x)=(x-1)2 show that g(P+1) = ¢ (1~ P)

(i) If f(x)=x%*+2and F(x)=2x+3, ﬁnd JFx)
and F(f(x)).

(12 marks) Start this Question on a new page.

(2)

(b)

(©)

(d

Sketchy =|x+2| andy =|x~ 4| on the same axes

and then use your graph to solve b+ 2|< |x - 4

Shade the intersection of the regions represented by
x> +3?>1and x +y*<9

Shade the region y <v9—x* keeping in mind any
restrictions on the domain.

If cot'd =~j— and 180° <8 <360 use exact values to show that

Osecd tan &

- =-100
l+sing .

Marks
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Question 4 (12 marks) Start this Question on a new page.
(a) Prove I+cos6 (cosecd +cot 6’)2 3
1—cosé
(b) Eliminate & from the pair of equations x=2+3cos’ @ 2
y=2sinf->5
(©) Solvefor 0°<x<360° (i) sin-’25 = % 3
(i1) 2cos’@—3sinf-3=0 4

Question 35 (12 marks) Start this Question on a new page.

(@) (i) Find the size of the largest angle of a triangle with sides
3em, 4cm and 6cm. 3

(i) Hence find the area of the triangle. 2

(b) From a point A, on the deck of a ship, the angle of elevation
of an aircraft (P) is 34" and from an observation point B, 25m !

vertically above A, the angle of elevation is 32°30". C

Calculate, to the nearest 10m, the height of the aircraft above

the deck. 7
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(12 marks) * Start this Question on a new page.
(a) Prove I+cosb _ (cosec + cot 9)2 3
I-cosé
(b) Eliminate 6. from the pair of equations x=2+3cos’# 2
: y=2sinfd-5
) x 1
(c) Solvefor 0" <x<360° i) sin 5= > 3
(ii) 2cos*#—~3sind-3=0 4
(12 marks) Start this Question on a new page.
(@ (i) Find the size of the largest angle of a triangle with sides
3cm, 4cm and 6¢m. 3
(if) Hence find the area of the triangle. 2
(b) From a point A, on the deck of a ship, the angle of elevation
of an aircraft (P) is 34" and from an observation point B, 25m
vertically above A, the angle of elevation is 32°30".
Calculate, to the nearest 10m, the height of the aircraft above
the deck. 7
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Question 6 (12 marks) Start this Question on a new page.
(a) Noting any restrictions on the domain of the function sketch
2
x“-9
= 2
Y x+3

(b) Examine y= 11+ 2x2 noting
x

- any restrictions on the domain
- symmetry
- intercepts
- asymptotes both horizontal and
vertical
and then draw the sketch. 4

(c) TForthecurve y=f(%)= Jl_l C
X - . w

(i) By considering the natural domain, any intercepts and the y
values as x — 1" and x = o« sketch the curve. 3

(ii) Find the inverse function f~' (x) and sketch this on the same

axes. 3
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